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243743 =71 x 3433 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 243743

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=1218790000
P =510510n + 121879

2P + 1 = 2(510510n + 121879) 4+ 1 = 10210201 + 243758 + 1 = 10210201 + 243759
0000010210200 20 2003,5,7,11,13,17000000 10000000

243759 = 3 x 193 x 421 x 1

good
2P + 1 = 3(340340n + 81253)

g0obOobooo30bobobooooobobooDoobooboboDobDobooobOobOobDOoo
goo

Q=1218830000
P = 5105100 + 121883

2P + 1 =2(510510n + 121883) + 1 = 1021020n + 243766 + 1 = 1021020n + 243767

0000010210200 20 2003,5,7,11,13,17000000 1000000

243767 = 43 x 5669 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 243767

gboboobogobooboboobboobobooobuoonobaon
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Q=1218890000
P = 5105100 + 121889

2P + 1 = 2(510510n + 121889) 4 1 = 10210201 + 243778 + 1 = 10210201 + 243779
0000010210200 20 2003,5,7,11,13,17000000 1000000

243779 = 433 x 563 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 243779

gbobooobogobooboboobboobooobuoooboon

Q=121897 0000
P = 5105100 + 121897

2P 4+ 1 =2(510510n + 121897) 4+ 1 = 1021020n + 243794 + 1 = 1021020n + 243795

0000010210200 20 2003,5,7,11,13,17000000 10000000

243795 =3 x 5 x 16253 x 1

oooo
2P + 1 = 15(68068n + 16253)

goooooboOobhooboooooboboooooooooDoobOooDOobDOobooboOoboo
good

Q=1219030000
P =510510n + 121903

2P + 1 =2(510510n + 121903) + 1 = 10210201 + 243806 + 1 = 1021020n + 243807

0000010210200 20 2003,5,7,11,13,17000000 10000000

243807 =3 x 181 x 449 x 1

oooOo
2P + 1 = 3(340340n + 81269)

gbooboobooo3obobooooooboboooobobobooboDobooobOobDOoooo
goo

Q=121909 0000
P = 510510n + 121909

2P 4+ 1 =2(510510n + 121909) + 1 = 1021020n + 243818 + 1 = 1021020n + 243819
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0000010210200 20 2003,5,7,11,13,17000000 10000000

243819 =3 x 3 x 27091 x 1

good
2P + 1 = 3(340340n + 81273)

g00obOooOo0o30b0bobooooobobOooOoOobOobobDOoboDobooobOobDOooDOoo
goo

Q=1219210000
P = 510510n + 121921

2P +1 = 2(510510n + 121921) 4+ 1 = 10210201 + 243842 + 1 = 10210201 + 243843
0000010210200 20 2003,5,7,11,13,17000000 10000000

243843 = 3 x 81281 x 1

oooo
2P + 1 = 3(340340n + 81281)

gooooooOo3soobooooooobo0oOoU0bOoUbDOoUobDOoUobDbOUDOoUobDbOUDoOO
oono

Q=1219310000
P =510510n + 121931

2P + 1 = 2(510510n + 121931) 4+ 1 = 10210201 + 243862 + 1 = 10210201 + 243863
0000010210200 20 2003,5,7,11,13,17000000 1000000

243863 = 243863 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 243863

goboobooobooboboobboobboobooobooo

Q=1219370000
P =510510n + 121937

2P + 1 =2(510510n + 121937) 4+ 1 = 1021020n + 243874 + 1 = 1021020n + 243875

0000010210200 20 2003,5,7,11,13,17000000 10000000

243875 =5 x5 x5 x1951 x 1

oooo
2P + 1 = 5(204204n + 48775)
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gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=1219390000
P =510510n + 121939

2P + 1 =2(510510n + 121939) + 1 = 1021020n + 243878 + 1 = 1021020n + 243879

0000010210200 20 2003,5,7,11,13,17000000 10000000

243879 = 3 x 81293 x 1

good
2P + 1 = 3(340340n + 81293)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=1219430000
P = 510510n + 121943

2P + 1 =2(510510n + 121943) + 1 = 10210201 + 243886 + 1 = 1021020n + 243887

0000010210200 20 2003,5,7,11,13,17000000 10000000

243887 =7 x 34841 x 1

oooo
2P + 1 = 7(145860n + 34841)

gooooooovyoUooo0oooOooOOoU0OOoU0obDOU0UDbDOoUbDOoUbDOUDbDOObDOUODOO
ooo

Q=1219490000
P = 510510n + 121949

2P + 1 = 2(510510n + 121949) + 1 = 10210201 + 243898 + 1 = 10210201 + 243899
0000010210200 20 2003,5,7,11,13,17000000 10000000

243899 = 17 x 14347 x 1

oooo
2P +1 = 17(60060n + 14347)

ooboobooobo1ivyoooboo0obOo0oobObooobooobOo0oboobUobooooDbOoobOoo
good

Q=1219510000
P = 510510n + 121951
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2P 4+ 1 =2(510510n + 121951) + 1 = 10210201 + 243902 + 1 = 10210201 + 243903

0000010210200 20 2003,5,7,11,13,17000000 10000000

243903 =3 x 11 x 19 x 389 x 1

oooo
2P + 1 = 33(30940n + 7391)

0O00Odo0oboO0o3300b0o00o0oobo0obooooUooooooDobDooDOobDobooooooog
goog

Q=1219630000
P =510510n + 121963

2P + 1 = 2(510510n + 121963) + 1 = 10210201 + 243926 + 1 = 10210201 + 243927
0000010210200 20 2003,5,7,11,13,17000000 10000000

243927 =3 x 3 x 27103 x 1

good
2P + 1 = 3(340340n + 81309)

o00ob0ooO0o0o30b00b0oooooobooboooobob0obODobDobOoobOoDbDOoDOon
goo

Q=1219670000
P = 5105101 + 121967

2P +1 = 2(510510n + 121967) + 1 = 10210201 + 243934 + 1 = 10210201 + 243935
0000010210200 20 2003,5,7,11,13,17000000 10000000

243935 =5 x 48787 x 1

oooo
2P + 1 = 5(204204n + 48787)

goooooo0ds0U0b0O0bOO0ODbOO0DOO0ODOU0ODOUODOUODOUODOODOUODOO
ooo

Q=1219690000
P =510510n + 121969

2P 4+ 1 =2(510510n + 121969) + 1 = 1021020n + 243938 + 1 = 1021020n + 243939

0000010210200 20 2003,5,7,11,13,17000000 10000000

243939 =3 x 31 x43 x 61 x 1
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oooo
2P + 1 = 3(340340n + 81313)

000000003 000000000000DO00DO000OO0DO0ODOO0DOO0ODO0OO0ODOODODODn
goo

Q=1219730000
P =510510n + 121973

2P + 1 = 2(510510n + 121973) + 1 = 1021020n + 243946 + 1 = 1021020n + 243947
0000010210200 20 2003,5,7,11,13,17000000 10000000

243947 =11 x 67 x 331 x 1

oooo
2P + 1 = 11(92820n + 22177)

o0boobO0oobOlnooooo0oOo0ooboboOoo0bO0oo0bDO0o0oboobUoboDooobOoobOoo
good

Q=1219810000
P = 5105100 + 121981

2P + 1 = 2(510510n + 121981) + 1 = 10210201 + 243962 + 1 = 10210201 + 243963
0000010210200 20 2003,5,7,11,13,17000000 10000000

243963 = 3 x 3 x 27107 x 1

oooo
2P + 1 = 3(340340n + 81321)

obooboobooo3oboboboooooboboooobobobooboDooboobOoboOoooo
goo

Q=1219870000
P =510510n + 121987

2P + 1 =2(510510n + 121987) + 1 = 1021020n + 243974 + 1 = 1021020n + 243975

oo0000o10210200 20 2003,5,7,11,13,17000000 10000000

243975 =3 x5 x5 x 3253 x 1

oooOo
2P + 1 = 15(68068n + 16265)

gooooOooOoboobooOooobOoboobooUooUoooDOobDOo0oDOobDOoboooboOooo
gogo
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Q=1219910000
P = 510510n + 121991

2P + 1 = 2(510510n + 121991) 4 1 = 10210201 + 243982 + 1 = 10210201 + 243983
0000010210200 20 2003,5,7,11,13,17000000 1000000

243983 = 269 x 907 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 243983

gbobooobogobooboboobboobooobuoooboon

Q=1219930000
P = 510510n + 121993

2P + 1 =2(510510n + 121993) + 1 = 1021020n + 243986 + 1 = 1021020n + 243987

0000010210200 20 2003,5,7,11,13,17000000 10000000

243987 = 3 x 167 x 487 x 1

oooo
2P + 1 = 3(340340n + 81329)

gooooooboo3sooooooooobooooOobooboobOoobbOODbDoOobboUODboO
goo

Q=121997 0000
P =510510n + 121997

2P + 1 =2(510510n + 121997) + 1 = 10210201 + 243994 + 1 = 1021020n + 243995

0000010210200 20 2003,5,7,11,13,17000000 10000000

243995 =5 x 48799 x 1

oooo
2P + 1 = 5(204204n + 48799)

oboobobooosOob0obOobOUoobo0ob0obDobOUobObOobUobDobDOobObOoobUobDOoboOoo
goo

Q=121999 0000
P = 510510n + 121999

2P 4+ 1 =2(510510n + 121999) + 1 = 10210201 + 243998 + 1 = 10210201 + 243999
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0000010210200 20 2003,5,7,11,13,17000000 10000000

243999 =3 x 3 x 3 x7x1291 x 1

oooo
2P + 1 = 21(48620n + 11619)

o00o0obO0oobo210000b00000obOb00oo0b00oo0bO0o0obo0obooDoooboOoobOoo
good

Q=1220110000
P = 510510n + 122011

2P +1 = 2(510510n + 122011) 4 1 = 10210201 + 244022 + 1 = 10210201 + 244023
0000010210200 20 2003,5,7,11,13,17000000 10000000

244023 = 3 x 13 x 6257 x 1

oooo
2P + 1 = 39(26180n + 6257)

gooooOooboOo3ooooooob0oboobooUoooo0oDOobDOooDOobDOoboOoboooo
googo

Q=1220210000
P = 510510n + 122021

2P + 1 = 2(510510n + 122021) 4+ 1 = 10210201 + 244042 + 1 = 10210201 + 244043
0000010210200 20 2003,5,7,11,13,17000000 1000000

244043 = 244043 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 244043

goboobooobooboboobboobboobooobooo

Q=1220270000
P = 510510n + 122027

2P 4+ 1 =2(510510n + 122027) 4+ 1 = 1021020n + 244054 + 1 = 1021020n + 244055

0000010210200 20 2003,5,7,11,13,17000000 10000000

244055 =5 x 7x 19 x 367 x 1

oooo
2P + 1 = 35(29172n + 6973)
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Oo0oOdoOooOOo3o00b0b00ooob0dbooboo0oooo0oDoobDUooDOobDoboooooog
goog

Q=1220290000
P =510510n + 122029

2P + 1 = 2(510510n + 122029) 4 1 = 10210201 + 244058 + 1 = 10210201 + 244059
0000010210200 20 2003,5,7,11,13,17000000 10000000

244059 = 3 x 81353 x 1

oooo
2P + 1 = 3(340340n + 81353)

g00dob0obO0oo03000b0o00oo0ooboobDooDoO0bO0obO0oDOOobDOobO0oOobOoDbDOoDOn
goo

Q=1220330000
P = 510510n + 122033

2P 4+ 1 = 2(510510n + 122033) + 1 = 10210200 + 244066 + 1 = 10210200 + 244067
0000010210200 20 2003,5,7,11,13,17000000 1000000

244067 = 107 x 2281 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 = 510510m + 244067

gbbooggbogoboobbugobboobbooobuoonbagn

Q=1220390000
P =510510n + 122039

2P 4+ 1 =2(510510n + 122039) + 1 = 1021020n + 244078 + 1 = 10210201 + 244079

0000010210200 20 2003,5,7,11,13,17000000 10000000

244079 = 11 x 22189 x 1

oooo
2P + 1 = 11(92820n + 22189)

O000o0O0o0b0O1NnooooOo0obO0oobOOoOooOoO0oo0DOO0o0obDO0o0obOobDoOobDbOOobODbOoo
good

Q=1220410000
P = 510510n + 122041

2P 4+ 1 =2(510510n + 122041) + 1 = 1021020n + 244082 + 1 = 10210201 + 244083
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0000010210200 20 2003,5,7,11,13,17000000 10000000

244083 =3 x 7x 59 x 197 x 1

oooo
2P + 1 = 21(48620n + 11623)

oboobooobo21000ob0bo0ob00oobobooobooo0b0o0obooboboooobOoobOoo
good

Q=1220470000
P = 510510n + 122047

2P + 1 = 2(510510n + 122047) 4+ 1 = 10210201 + 244094 + 1 = 10210201 + 244095
0000010210200 20 2003,5,7,11,13,17000000 10000000

244095 = 3 x 5 x 16273 x 1

oooo
2P + 1 = 15(68068n + 16273)

goooooboOobhoobooooobOobooooUooooooDOobDOoOoDOobDOoboooboOooo
good

Q=1220510000
P =510510n + 122051

2P + 1 =2(510510n + 122051) + 1 = 10210201 + 244102 + 1 = 10210201 + 244103
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

244103 =17 x 83 x 173 x 1

oooo
2P + 1 = 17(60060n + 14359)

obooboooboivyoooobooOoU0oobObooo0bOoob0o0obUoobUoboooobOobobOoo
goog

Q=1220530000
P = 5105100 + 122053

2P 4+ 1 =2(510510n + 122053) + 1 = 1021020n + 244106 + 1 = 1021020n + 244107

0000010210200 20 2003,5,7,11,13,17000000 10000000

244107 =3 x 3 x 3 x 9041 x 1

oooo
2P + 1 = 3(340340n + 81369)
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go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=1220630000
P =510510n + 122063

2P + 1 =2(510510n + 122063) + 1 = 1021020n + 244126 + 1 = 1021020n + 244127

0000010210200 20 2003,5,7,11,13,17000000 10000000

244127 =13 x 89 x 211 x 1

oooo
2P + 1 = 13(78540n + 18779)

o00o0obO0o0obO13oooooooooboooooOoobOo0oboobobDoooDbOoboDbOoo
good

Q=1220690000
P = 5105100 + 122069

2P 4+ 1 =2(510510n + 122069) + 1 = 1021020n + 244138 + 1 = 10210201 + 244139

0000010210200 20 2003,5,7,11,13,17000000 10000000

244139 =7 x 34877 x 1

oooo
2P + 1 = 7(145860n + 34877)

gooooooOgvoUoooOoOooOoOoU0OOoU0bDOU0oDOoUoDbDOUbObOUODOOobDbOUODbDOO
goo

Q=1220710000
P =510510n + 122071

2P + 1 = 2(510510n + 122071) 4+ 1 = 10210200 + 244142 + 1 = 10210200 + 244143
0000010210200 20 2003,5,7,11,13,17000000 10000000

244143 =3 x 3 x 27127 x 1

ogooo
2P + 1 = 3(340340n + 81381)

g0obOobooo3obobooooooboboooobooboboDoboDobooobUobDOoobDOoo
goo

Q=122081 0000
P = 510510n + 122081
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2P 4+ 1 =2(510510n + 122081) + 1 = 1021020n + 244162 + 1 = 10210201 + 244163

0000010210200 20 2003,5,7,11,13,17000000 1000000

244163 = 37 x 6599 x 1

o000 10210200 000000000000

2P +1 = 510510m + 244163

oooboobooobooboboobboobboobooobooo

Q=1220930000
P =510510n + 122093

2P + 1 = 2(510510n + 122093) + 1 = 10210201 + 244186 + 1 = 10210200 + 244187
0000010210200 20 2003,5,7,11,13,17000000 1000000

244187 = 31 x 7877 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 244187

gbbooggbogoboobbugobboobbooobuoonbagn

Q=1220990000
P =510510n + 122099

2P + 1 = 2(510510n + 122099) + 1 = 10210201 + 244198 + 1 = 10210201 + 244199
0000010210200 20 2003,5,7,11,13,17000000 1000000
244199 = 244199 x 1
0000 10210200000000000000
2P + 1 = 510510m + 244199

gboboobogoboobboobboobobooobuoonooboon

Q=1221070000
P = 510510n + 122107

2P + 1 =2(510510n + 122107) + 1 = 1021020n + 244214 + 1 = 1021020n + 244215

oboo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

244215 =3 x3x3x3x3x3xHx067x1

oooo
2P + 1 = 15(68068n + 16281)
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obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=1221130000
P =510510n + 122113

2P + 1 =2(510510n + 122113) + 1 = 1021020n + 244226 + 1 = 1021020n + 244227

0000010210200 20 2003,5,7,11,13,17000000 10000000

244227 = 3 x 81409 x 1

good
2P + 1 = 3(340340n + 81409)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=1221170000
P = 510510n + 122117

2P + 1 =2(510510n + 122117) + 1 = 1021020n + 244234 + 1 = 1021020n + 244235

0000010210200 20 2003,5,7,11,13,17000000 10000000

244235 =5 x 48847 x 1

oooo
2P + 1 = 5(204204n + 48847)

gooooooOdOs0U0bOO00bOOU0bOO0OO0ODOU0ODOUODOUODOUODOODOUODOO
ooo

Q=1221190000
P =510510n + 122119

2P + 1 = 2(510510n + 122119) 4+ 1 = 10210201 + 244238 + 1 = 10210201 + 244239
0000010210200 20 2003,5,7,11,13,17000000 10000000

244239 = 3 x 17 x 4789 x 1

oooo
2P + 1 = 51(20020n + 4789)

o0oobooooslboooboboobooobbooboboooboob0oobobDoooDbOoobOoo
good

Q=1221230000
P = 5105100 + 122123
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2P + 1 =2(510510n + 122123) + 1 = 10210201 + 244246 + 1 = 1021020n + 244247

0000010210200 20 2003,5,7,11,13,17000000 1000000

244247 = 244247 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m + 244247

gboboobogobogoboboobboobooobooooboon

Q=1221310000
P = 510510n + 122131

2P + 1 = 2(510510n + 122131) 4+ 1 = 10210201 + 244262 + 1 = 10210201 + 244263
0000010210200 20 2003,5,7,11,13,17000000 10000000

244263 = 3 x 81421 x 1

oooo
2P + 1 = 3(340340n + 81421)

gooooooo3soooooooooboooobooboobooDboobboODoobboUOoDboO
goo

Q=1221370000
P =510510n + 122137

2P + 1 = 2(510510n + 122137) 4+ 1 = 10210200 + 244274 + 1 = 10210200 + 244275
0000010210200 20 2003,5,7,11,13,17000000 10000000

244275 =3 x5 x 5 x 3257 x 1

oooo
2P + 1 = 15(68068n + 16285)

oooooooolibooooboooooboboooboobooboobooooobOoobOoo
good

Q=1221410000
P =510510n + 122141

2P 4+ 1 =2(510510n + 122141) + 1 = 1021020n + 244282 + 1 = 1021020n + 244283

0000010210200 20 2003,5,7,11,13,17000000 10000000

244283 =13 x 19 x 23 x 43 x 1
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oooo
2P + 1 = 13(78540n + 18791)

00000000130 000000000000000DO00D0OO0DOODODO0OODODOODODOD
good

Q=1221470000
P =510510n + 122147

2P + 1 = 2(510510n + 122147) + 1 = 1021020n + 244294 + 1 = 1021020n + 244295
0000010210200 20 2003,5,7,11,13,17000000 10000000

244295 =5 x 48859 x 1

oooo
2P + 1 = 5(204204n + 48859)

o00obOobo0o0os000Db000000ObO0ODOOU0OObOO0ODbDODObDObOOODbDODbDODbDOn
goo

Q=1221490000
P = 5105100 + 122149

2P + 1 = 2(510510n + 122149) + 1 = 10210201 + 244298 + 1 = 10210201 + 244299
0000010210200 20 2003,5,7,11,13,17000000 10000000

244299 =3 x 11 x 11 x 673 x 1

oooo
2P + 1 = 33(30940n + 7403)

obooboooo33boooobooooobobooobooboobooboboooobOoobOoo
good

Q=1221530000
P =510510n + 122153

2P + 1 =2(510510n + 122153) + 1 = 10210201 + 244306 + 1 = 1021020n + 244307

oo0000o10210200 20 2003,5,7,11,13,17000000 10000000

244307 =7 x 17 x 2053 x 1

oooOo
2P +1 = 119(8580n + 2053)

gooooooboolyogoodooooooOoobDooboUooUoboO0oooOooDOoUDoo
googo
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Q=1221590000
P = 510510n + 122159

2P + 1 = 2(510510n + 122159) 4+ 1 = 10210201 + 244318 + 1 = 10210201 + 244319
0000010210200 20 2003,5,7,11,13,17000000 1000000

244319 =41 x 59 x 101 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 244319

gbooboobogobooboboobboobooobuooooboon

Q=1221670000
P = 5105100 + 122167

2P 4+ 1 =2(510510n + 122167) + 1 = 1021020n + 244334 + 1 = 1021020n + 244335

0000010210200 20 2003,5,7,11,13,17000000 10000000

244335 =3 x5 x 7Tx13x 179 x 1

oooO
2P + 1 = 1365(748n + 179)

OooOobOoboO0oeOoobooogooobooooboboooboooooooDoboooboo
googon

Q=1221730000
P =510510n + 122173

2P + 1 =2(510510n + 122173) + 1 = 10210201 + 244346 + 1 = 1021020n + 244347

0000010210200 20 2003,5,7,11,13,17000000 10000000

244347 =3 x 79 x 1031 x 1

oooOo
2P + 1 = 3(340340n + 81449)

obooboobooo3obobooooooboboooobobobDoboDobooobUoboooo
goo

Q=1221830000
P = 510510n + 122183

2P 4+ 1 =2(510510n + 122183) + 1 = 10210201 + 244366 + 1 = 1021020n + 244367
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0000010210200 20 2003,5,7,11,13,17000000 1000000

244367 = 244367 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 244367

goboobooobooboboobboobbooboooboon

Q=1221890000
P =510510n + 122189

2P + 1 = 2(510510n + 122189) + 1 = 10210201 + 244378 + 1 = 10210201 + 244379
0000010210200 20 2003,5,7,11,13,17000000 1000000

244379 = 244379 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 244379
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